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FINISHED MEASUREMENTS
Width: 30”
Length: 32” 

MATERIALS
Premier® Yarns Cotton Sprout™ Speckles (100% 
Cotton; 3oz/85g, 194yds/178m)

•	 MC: 2086-02 Candy – 2 balls
Premier® Yarns Cotton Sprout™ (100% Cotton; 
3.5oz/100g, 230yds/210m)

•	 C1: 1149-05 Bright Pink – 1 ball
•	 C2: 1149-25 Purple – 1 ball
•	 C3: 1149-16 Aqua – 1 ball
•	 C4: 1149-08 Yellow – 1 ball
•	 C5: 1149-10 Lime – 1 ball

Needle: US Size 6 (4mm) 24” circular or size 
needed to obtain gauge
Notions: Tapestry needle

GAUGE
21 sts x 25 rows = 4” in patt
Save time, check your gauge.

Skills/techniques used in this pattern:
•	 Knit stitches.
•	 Ssk, k2tog and sk2p decreases.
•	 Yarn over increases.
•	 Knitting through the back loop (twisted 	

stitches).
•	 Changing colors.

STITCH GUIDE
Garter Chevrons (multiple of 14 sts + 3) 
Row 1 (RS): K1, ssk, *k5, yo , k1, yo, k5, s2kp; 
rep from * to last 14 sts, k5, yo, k1, yo, k5, 
k2tog, k1.

Row 2 (WS): K7, *k1 tbl, k1, k1 tbl, k11; rep 
from * to last 10 sts, k1 tbl, k1, k1 tbl, k7.
Rep Rows 1-2 for patt. 

PATTERN NOTES
This Blanket is worked flat from end to end. A 
circular needle is used to accommodate the 
large number of stitches.

BLANKET
With C1, cast on 157 sts. 
Work Garter Chevrons repeating the following 
Stripe Sequence until piece measures 32” end 
having just worked the 4th row of any stripe.

Stripe Sequence
4 Rows C1
4 Rows MC
4 Rows C2
4 Rows MC
4 Rows C3 
4 Rows MC
4 Rows C4
4 Rows MC
4 Rows C5 
4 Rows MC 

Loosely bind off all sts. 

FINISHING
Weave in ends.
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Abbreviations
C	 color
dec(’d)	 decrease(d)
k	 knit
k2tog	 knit 2 sts together (1 st dec’d)
MC	 main color
patt	 pattern
rep	 repeat(ing)
RS	 right side
s2kp	 slip 2 sts tog as if to k, k1, pass both slipped 	
	 sts over k st (2 sts dec’d)
ssk	 slip slip knit (1 st dec’d)
st(s) 	 stitch(es) 
tbl	 through the back loop
tog	 together
yo	 yarn over
WS 	 wrong side


